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S. No. SECTION-A 10*1=10 Marks
Attempt all the questions
Marks | CO
Q1. | Multiple choice questions
a. At which price the bond is traded in the stock exchange.
a) Redemption value b) Face value c) Market value d) Maturity value 1 4
b. The term “capital structure” refers to:
a) Long-term debt, preferred stock, and common stock equity.
b) Current assets and current liabilities. 1 2
c) Total assets minus liabilities.
d) Shareholders' equity.
C. The traditional role of financial manager is responsible for
a) Proper utilization of funds b) Arrangements of financial resources 1 1
c) Acquiring of financial resources d) Efficient management of capital
d. The price of an equity share in the market is Rs 500, an expected dividend is Rs 56 and an
expected growth rate is 9% then cost of equity would be? 1 3
a) 45 b)0.202 c¢)0.302 d)50
e. A firm holding some cash to meet its routine expenses that are incurred in the ordinary
course of business for?
a) Speculative motive b) Transaction motive c¢) Precautionary motive 1 1
d) Compensating motive
f. The returns which the company pays on borrowed fund is termed as?
a) Dividend b) Interest c) Bonus d) None of the above ! 2




g. In calculating the costs of the individual components of a firm's financing, the corporate tax
rate is important to which of the following component cost formulas? 1 3
a) Common stock. b) Debt. c) Preferred stock. d) None of the above.
h. Present value consists of?
a) Discounting rate b) Compounding rate c) Inflation rate d) Deflation rate 1 2
I. Which of the following is not be considered as capital market security?
a) A corporate bond b) A common stock c) Treasury bill d) Mutual fund share 1 2
J. Working capital management is managing
a) Short term assets and liabilities b) Long term assets c¢) Long term liabilities 1 4
d) Only short-term assets
SECTION-B 4*5=20 Marks
Attempt any 4 questions
Q2. | Mention any 4 difference between systematic risk and unsystematic risk? 5 3
Q3. | Explain any 2 money market securities? 5 2
Q4. | Explain types of Working capital? 5 4
Q5. | Write short note on cash management and inventory management? 5 1
Q6. | Mr. X has Invested $1,500 for 3 years in a Savings account which pays 10% interest per
year. Calculate TVM annually and half yearly compound interest. > 2
SECTION-C 2*10=20 Marks
Attempt any 2 questions
Q7. | RBI is proposing to sell 7 years bond for 1900 @ 3% semi-annual rate of interest where
redeemable @ 2% and discounted @ 6% identify the cash flow for investor and value of | 1o 1
bond.
Q8. | Identify operating leverage, financial leverage and combined leverage from following
data:
Particulars Amount
Sales 1,00,000 units @ Rs. 2 per unit Rs. 2,00,000 10 A

Variable cost per unit @ Re. 0.70 per unit

Fixed costs Rs. 1,00,000

Interest charges on debt capital Rs. 3,668




Qo.

A company has to choose one of the following two mutually exclusive projects A&B.
Project A requires Rs.20,000/- and Project B requires Rs.15,000/- as initial investment. The
firms cost of capital is 10%. Suggest which project should be accepted under NPV method.
Following are the net cash flows:

Years 1 2 3 4 5
Project A 4200 4800 7000 8000 4000
Project B 4200 4500 4000 5000 4000

Identify Net present value and suggest which project will be preferred?

10

SECTION-D
Attempt all questions

50 Marks

Q10.

The following are the capital structure of Sunil Ltd. as on 30.11.2015

Particulars Amount (Rs)

Equity shares 10,000 shares (of Rs 100 each) 10,00,000

10% preference share (of Rs 100 each) 4,00000

12% Debenture 6,00,000

Total 20,00,000

Information:

The market price of the company share is Rs. 110 and it is expected that a dividend of Rs.
10 per share would be declared for the year 2015. The dividend growth rate is 6%.
Questions

a) If the company is in the 50% tax bracket, compute the weighted average cost of
capital? (15 Marks)

b) Assuming that in order to finance and expansion plan the company intends to
borrow a fund of Rs. 10 lakhs bearing 14% rate of interest, what will be the company
revised weighted average cost of capital? (15 Marks)

¢) How will you determine the cost of capital from different sources? (10 Marks)

d) Give some of the factors that affect with affects the dividend policy of the firm. (10
Marks)
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Periods

Interest rates (r)

{r1) 1% 2% 3% 4% 5% BE% 7% B% B% 110¥%
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Periods Interest rates (r)
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